class Solution {
public:
bool searchMatrix(vector<vector<int>>& matrix, int target) {

/] TR RZ
if (matrix.empty() [l matrix[0].empty())

{
return false;
}
int M = matrix.size();
int N = matrix[0].size();

int leftl = 0;
/] A M -1
int rightl = M - 1;
/] BNMEA M, FrRKENT
int hang_index = M;
/] —nEXRSHBRT
while (leftl < rightl) {
int midl = (leftl + rightl) / 2;
if (target < matrix[mid1][0]) {
/] BEFRBR
rightl = midl - 1;
} else {
/] ICRERIT
hang_index = mid1;
/] BRI "EJRERY1T
leftl = midl + 1;

+

// MRZBXEBREYT, &RE] false

if (hang_index = M || matrix[hang_index][0] > target)
return false;

[l ZHEXRBRT
int left2 = 0;
/l EZH N - 1
int right2 = N - 1;
while (left2 < right2) {
int mid2 = (left2 + right2) / 2;
/] XEBtR
if (matrix[hang_index][mid2] = target) {
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return true;

if (target < matrix[hang_index][mid2]) {

L

/] EFRABR

right2 = mid2 - 1;
} else {

/] BEFEBR

left2 = mid2 + 1;
}

return false;



